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q and B travel the same distance at the speeds of 10 kmph and 15 kmph respectively.
If A takes 30 minutes longer than B then distance travelled is

w 15km B) 20km
{C) 90km I} 30km

A B oagit @eat ¢0r grpes apepCu 10 S8 /wefl, 15 8.6 wefl Cassfid supbg
Qsadpnisa. B-g el 30 Sl sisd sfisb A apias Qeradpnt aafld seisd s Qe
ST cTeman? i

(Ay 15 8.8 (B) 204.8

(C) 90&B (D) 3044

Remainder when the polynomial 5x® + 22* —6x +12 divided by {x+2) is

(A  Sxf-8x+10 B) x+8
-8 o -72

Bx? + 2x% —6x + 12 - (x+ 2} - sugnimé SlevSmib B8 gt
Ay 5x'-8x+10 (By z+8
cy -8 oy -72

In a rectangle if the length is increased and breadth is reduced by 3 em then area is reduced
by 18 em?. If the length is reduced by 1 cm and breadth is increased by 2 cm then the area is
increased by 14 cm®. Actual length and breadth of the rectangle are respectively

13 em; 10 cm (B} l4cm; 9cm
() 12cm; 12 em Dy 15¢m; 8 om

i Decuasdlen fand 3 Qb sere) syflafEsoUl R SEaD 3 Qrf serey geapastiulL nd
urdereurang 18 Gls b2 ey @enmbs all{pub, Fergdar 1 Gs. o eta) @EenDERULILD s
? Qeaf. ey sflsfssdolind urouasureng 14 Qeaf? oserey ai,ﬁﬁlﬁm . rafla
SFrdmsgBar fanb whb mmwf:m

(A)  13QsE; 10 Qead. B) 14Cs.f;%Qs.E

() 12 Qs.8;12 Qeaf (D 15Gs.5. B Qsuf.

3 AADGSNT
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4. Edge of a cube is increased by 50% then find percentage increase in total surface areage the

cube, ]

(A)  108% : 125%:

€y 90% (D) &0%

R Fe oﬁg;ﬂm ussh 50% ewfESOLL LTS @ Gorgst ypouria giuc e sfsfoda
#mellfgin eremen?

(A)  108% (B). 125%

Gy #0% - ) - 80%

5. 1297 -29% =7

(A) 12000 (B) 15000

~ 15800 ' (D) 10000
1207 _09% _ 9
{A) 12000 (B} 15000
(C) 15800 (D) 10000

6. Sum of a number and its reciprocal is 4 then value of sum of cube of the number and

reciprocal of the cube is 5
™ 64 s
© 48 Dy 24

G erem wppud Sigdn geradfidea sl Bslsras 4 aefld, sdubudrailan gpbog oo
ey e gendf blusbilen s BECEnmE adeuara?

(A) 64 : (B} 52

(©) 48 D) 24

1. An angle and its supplementary angle are in the ratio 4 : 3 then that angle is
80° o (By 100°
Cy 400 Dy 500

@ Caranapn sme Wens Bllige Ganamapn 4 - 5 aenp efldskdla @i maCaramb om0

(A). - BD® (B} 100°
€y 40 (o 50

AAOGSNT 4 o



10.

@CF of = -2xy+y" and x* ~y* is
B) =x+y¥

M 1
# x-y D) «*-y

x* - 2xy+ 3 wpped x* -y slloaiian BuGum Qurg aigsfl (B.0ure ) a7
Ay 1 . B =x+y :
©) =x-y m x-y

TAMIL is coded as RCKKJ then MATHS is coded as

i;n’ KCRJIQ . (B) EKCRRU
{C) RCEEU (v RCEJQ

TAMIL eréirgpiid @emés RCKKJ ernds @fuSe Lnésip Qoinwnii nés MATHS erggb Gambgréesin
EfdC L ndsn erg?

(A} KCRJQ (B KCRRU

() RCEKU (D) RCEJQ

Among five liquids A, B, C, D, E the boiling point of A is less than that of E but more than
that of B where B has a higher boiling pmnt than C. The boiling point of D is higher than
that of E. Which liguid has the least boiling point?

(A A B B

..,;ﬁrc - @ D

A B C D E a@np. mis ﬁnmmw A-ddan Gandl Gmuu;ﬂmaﬂurrmgj E-dlén Qanf
Gaoufleney s goparsauh Bdlér Gend dalufleamus srlgguh sifsorsab,
Bolerg C-lenr Qanf Qaluflosmus siiogh sfsorsqd Grédpg D-la Garfd
Qeutufeaunang E-elenamgs &miiggibn a,ﬂsm eriles wrpg froghar dard Quoufles Hes
GEmpauns Flmsmmn?

Ay A B B

© cC @D

B AAOGSNT
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li..  n'* term of a series is given by a, = (~1)"{1-n+2"). Then 5 term of the series is
Ay  -21 . ® -6

,ﬁ-za @ 6

| m Gmfan n-agub =gy srgub ambunf g, =(-1)"(1-n+2") i Qerpésiul Pearag

arafics mpQpm M 5-uib o gy am?
w -21 ) B -6
cy -8 D) @

12. If k+1, 3k and 4k+2 are any 3 consecutive terms of an Arithmetic Progression then value
of kis
A 1

0 ' (B)
© 2 o 3

k+1, 3k nppib 4k+2 sglum g s BE G fid senwdepes erafld £-ar gy
{A) O B 1
© 2 @ 3

- 13. Find the missing number :
1,3,6,10,7,21, 28 ..

A 18 '.\pﬂ/m

cy 20 oy 17

el (UL cTEma0 @S S

1,3,6 10,7 21,28 ...

(A 16 (B) 15
c 20 oy 17

AADGS/17 S 6 . . o



14.

15.

146,
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A monochromatie lipht of wavelength 539 nm is incident on a water surface having
refractive index 1.33. Find the velocity of light in water.

(A 3x10°ma” 332 ms™

(C) 280 ms™ M}Zﬁﬁxlﬂﬂms.-

grefielload eram 1.33 aeniw Bfldr g 589 nm smeve fargpenw g ﬁlpl gl uREng. Efgyer
paftullen Senslaiaias sarsdf.
(&) 3x10°ms™? - (B) 332 ms

(C) 280 ma™ ' 7 (D) 2.25%10° ma™

The colour light emitted by LED depends on
{A)  its reverse bias (B) its forward bias
(Cy  the amount of forward current Wty‘p& Dfaamimnﬂunlmr mai:erial

el el e Gaomg e e 18 p00 Bl gafler Biph ————————— snipss).
(A} e SerGanma sy (B} .mgdn qpaiCamag smiy
(C)  pperBenrim MenGarm L yatey (D) [gmmn;ﬁﬂ Qummetdn ausns

Which is called "Aqua tortis"?

(4 HS0, 0!’ HNO,

(Cy HCl _ (D) H,PO,

" e Ly e eremmen,pasiL fag 17
(A, HB0, (B) HNO,
© Hal @) H,PO,

7 AADGSNT
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17.  Insectivorous plants not able to eynthesize enough protein due to the deficiency of ®
(&) Hydrogen {B) Carbon
\pf Nitrogen (D} Oxygen
HHII & cinggy b graTEss —— upprégepdiand Lrsses purilés ryaflde.
(A)  epplygen (B)  smiruen
(©)  eoplymen . @) gihge

18.  The total amount of energy released from one molecule of glucose on oxidation is about
(A) 2600 kJ B) 2300 kJ '
v 2000k ®) 2500 kJ

am ppesmp @Esstarey apapenurer efgCappifear Curg Qeuefllu@igh sphpda

BT
(A) 2600 kJ (B) 2300kJ
(C) 2000k] . (D) 2500 kJ

19.  Which is known as “Sundew Plant"?

(A) Cuscuta _ : Mﬂmaem

() Vanda ' (I} Viscum
i el Egails s b ey Sanpss LR

(A) sgiin ® Cyedor
(0 eumamm (D efldosb

AADGSNT 8 : o
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Z0.

21.

22,

Which player of India plq_ﬂﬂ most Test matches as captain?
M.5. Dhoni

(B} - 8. Ganguly
{0} Mohammad Azharuddin
@ 2 Cavaskar

sifsiomer Qusv’. Gumn’ waad Cali ams deamugw Ay alri uni?
(&)  enib.ere. Guradl

B)  we. s

(C)  qpswg =snmhan

(M) sreh. seuneimiv

‘Which is the first team to play 900 One day International Cricket matchea?
(4)  Australia (B)  Srilanka
W India (D) Pakistar

900 guqm meer sicuCes AfaCa Curly safid el aanumg w el arg?
(A) speuflCrdom ; T (B Bedsns
(C) @S D unddogmd

k

The Indian rupee symbol ¥ was adopted by Indian Government in the year
(&) 2006 & 2010 '
(cy 2011 (Iy 2007

Bidu mundes giurs T-p @EHU Siws gHpSEaTET QIEHL LD —

(A) 2006 (B) 2010
() 2011 o 2007

AADGSNT
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23.  Which Act legally recognized the principle of election to the legislative councils?
_ Act of 1861 (B) Act of 1892
J Act of 1909 (D) Actof 1919

sl nemprssigdarat GEigena FLLLTRWLTS qigs dersn s L1b
(A) 1861 syem(d scib (B) 1B92ib el s Lib
(C) 1909k ayein(d s Lib D) 19190 e sin

24 NITI Aayog came into existence on
(A) In Jan.ua_r:.r — 1960 M]" January — 2015
(C) 1+ January - 1947 . (N 1* January — 1943

NITI 5 Couimis sippgé@ Daran( aupiiue L e
(&)  mewaf-1, 1950 ' (B) mamaufi-1, 2015
(€  memeui-1, 1947 D) geafl-1, 1948

25.  According to Socio-Economic and Caaste Cenaus (SECC), 20 15, which atate has the mgheat

literacy rate?
(4) Sikkim . (B} Tamil Nadu
W Kerala {D} Haryana

20156 pups sops BunEermEry F;Tﬂ munw ER AT TR (SECC) vy Spsam wrfedsado
enps wirfleffld sufls uguuie) sgeln n..ﬁmﬂ?

(A)  fadio C® popen

(C) Gayemr ' D soflomar

. AAOGS/17 10 : o



Match List 1 with List IT and chocse the correct answer from the codes given below :

(a}
(b
(e)
(d}

v
(B) 4

(8]
D)

(FIFA World Cup Fmt-bﬂil'.!
List 1 ' . Liat IT
Russia 1. 2006
‘Brazil _ 2. . 2010
South Africa 3 2014
Germany 4. 2018
{a) (b) (e {d}

3 2 1

3 1 2
EELE I T
4 2 3 1

uligwe I dimpe ulgwd IT Quamsgs. sfuren diemw gidGsfdings Caipted :

(a)
(k)
{c)
(d)

(A
-(B)
©
D)

(Bun 2 welGarimy STaub)
U | wi g IT
FeiRILHT 1 ﬁﬂﬂﬁ
AGrHd 2, 2010
Qe ayifhban 3. 2014
Qgineaf . 4. 2018
@ & ©. @ :
4 i 4 1
4 3 1 2
3 4 2 1
4 2 3 1
1 11

AAOGSNT
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27. The Union Government launched the new digital payment system, Bharat QR mg in

February 2017. QR code standa for .
(A) Qwerty Response Code : -a( Quick Response Code
()  Queuwe Kesponse Code (D) Quasi Response Code

Eiigaufl :?_Dl? -Be wiflu s urg-QR iUl edp uflu sdrefiass vand Jegibs
wepuileen Agrsdluetangy. QR gl meny Bass @ilési
. (A} Qwerty Response giiSE (B} Quick Response sfuse
{C) Queue Response gl (D} Quasi Response gfuS@

28.  The integrated grievances redressal platform for petroleum and gas related queries acrosa
social media launched by the union ministry in March 2017 is

(A) GemSPV
(B) URJA MITRA

MOPNG e Seva
(I} Petroe Seva

wmig 2017-Gld, iy SemodFEESTD Faps s slealls gaudd madsiul L, Qul Gprd whgb
aumg GErfuren st CretisEnss aay guidaais S Sra; Hukiggens
{4y  Gem 5PV
(By URJAMITRA
{0y MOPNG e Seva (MOPNG e-Granau)

Dy Petro e Seva (Qud Gor e-Sraneu)

29.  The new 4 elements added to the periodic table aince 2011, They are
Ay 113, 114, 115 and 116 {B) 115, 116, 117 and 118
M 113, 115, 117 and 118 } {D} 114, 116, 117 and 118

Bpsdr_aidld i ufu preng e plysses safio sl smemdd 2011 - B amerdsiu L g7
(A) 113, 114, 115 wpmed 116 By 115, 116, 117 wppis 118
(€ 113, 115, 117 wpmpud 118 D) 114, 116, 117 wipio 118

AAOGSNT 12 ' 3
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30, .Whi-ch of the following day has the theme ‘Cultural Heritage and Sustainable Tourism® in
the year 20177

@)
®)
4

()

World Environment Day

" World Earth Day

World Heritage Day
World Metasorological Day

"s@nssmy Lnpbuflub wigb HeunfssEsss spponansne’ aeg 2017-gyb e pere

Bibe BengBen smilbunmengib
(A4)  possposspd denb
B)  cwspd danb

(0 s ompoufio gdenb

(h)]

8 o aunailuamiie Sem

31.  Pick out the correct statement

WThe global average eurface temperature has increased over 20t century by

(B)

()

(D)

about 0.6°0

The global average surface temperature has inereased ower 20t century hy
about 0.7°C -

The global average surface temperature has increased over 20% century by
about 0.5°C

The global average surface temperature has increased over 20t century by about 1°C

Fflwnen safenm St Sl alh

A)
(B)
(8]
)

el en sprefl Geulivgens el 20-awb mdmrange 0.6°C e wihsderng
yyeflS s sprafl Hanliugas Sﬁ.-h_ 20-g0 gripremg &) 0.7°C e wsijbserang
yefled e sgasifl euliugeng el 20-24b prboremgd 0.8°C euibgerag
Lyafled e sgrafl Qauliugen ofl L 20-pb prdorengd 170 eudhmideng

1% ' AAOGSNT
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32, Johanneaburg 2002 United Nations Conference was on
(A) Software development
{B) Transport development
Sustainable development
{0} Community development

madu prfaattan wrgnp 2002-Fda Gagralendouisdd §_hsg. § e Gorésb
{4) Queardummer CuoburE

(B) %nigwugg Crotbum(p

(€)  Guewppmbs CobunB

Dy spps Gubur®

33. Match List [ with List IT :

List I List II
Place River
{a) Londen - 1. Seine,
{b) Paris 2.  Thamea
(&) BSoviet Union 3 Cauvery
(d) Tamil Nadu 4 Volga

(a) - (b {c) (d)

A 1 3 4 2
N 2 1 4 3
cy 4 3 2 1
m 2 3 1 4
utsgueds [ ol igush I-e o de Quagmigis :
h wiiguish T piguien 11
b 58
(a)  eocwrdn 1. Fan
(b) unflen 2. Ggebeln
{e) Ceaafliug wpeflvd 3. snafifi
d)  sSihpe® 4. Gamdbsr
(ad (h) {c) (d)
Ay 1 3 4 8
B 2 1 4 !
iy 4 3 2 1
m 2 3 1 4

AADGSNT o 14
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34. .‘F."here we can see the ‘Sigiriya Paintings’ which is highly influenced by the Ajantha style?

- 35.

36.

(4
(i

Hgier geludisefid grésfeng) Quippdar “Adfur” pefluidisdr o drar @b

(Y
<)

List out the five dynasties of Delhi sultanates in order

(B}
(<
(D)

Acoall sagrafugens 8 Dol phs aubskseer aflariuBigs

{A)
(B)
{C)
)

Burma
China

(BT

Sennr

&lawe, Khilji, Tughlag, Sayyidas, Lodis

Khilji, Slave, Tughlag, Lodis, Sayyids

Lodis, Sayyids, Tughlaq, Khilji, Slave
Slave, Lodis, Sayyids, Khilji, Tughlag

Sigeme, Kag, mEad, enaug, Gamg
£dg, Sugenw, Fi5e0E, Sy, meLsg
Geomia., Sswg, grams, Sldog, =gmo
Sgern, Gamg. evevg, Sdnll, gkark

The founder of the Bahmam Iij:igdnm was

(A)
(B)
{Ch

Muhammad Shah
Firoz Shah
Mahmud Gawan

.pr' Alauddin Bahman Shah

-umflaf sqmane El peiluict
(A)  cpswg egr

My  AGyrer agm

(C)  ppsng Smeuer

(DY esyaraySel Lmoamagn

15

(B) Sumatra

D) @edcos

AADGSNT
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37.  “Doab” means
(A} The region between two cities
The region between two rivers
(Cy  The region between two mountains
(D)  None of thesa

Vg g’ eremlL(Beug

A B perhsesss Fel oot e ugd

®)  @osesie Ge ol ued

) G werersgrig el iud L Halugs
D) ﬁlmﬁ}ya’r arglaguildena

38. The First Secretary General of SAARC
_(A) Jinnah Jﬁbul Ahsan
(C) Kofi Annan (I Gandhiji

it syenwlnflen apad Qungs Bevsmart

(A)  gQemamn ) {B}. B SRy T
(C)  Gsmd ayenen ' D) ampds

39. Pt Jawaharlal Nehru's Five principles of peace are named as

(&) Swadeshi

{(B)  Apartheid

{C)  New Deal
Pancha Sheel

LisiTg f e EmireTe GrmeSen sremoBEsrar mh obe Dards
(&) sGpdl

B)  Eer gmisd

(€ uflu uwgpflens

D) ugss fad

AAOGSNT 16



40. ) Recognized official language of India

41.

@) 25 O 2

(cy 23 (27

BB imetes o bmiflimCio L Gumflsdr
(A 25 . (By 22
Wy 23 oy 27

The Supreme Court consists of how -man_v judges?
26 (B 22
(Cy 25 D 21

o sl oanifd saacmo FHof o Lo aggemen Bluflsd o dramet?

(A) 26 By 22
cy 25 oy 2

The Par]ian;tent of India eonsist of

One house

M Twao houses

{C)  Three houses

(I Four houses

EpSu L.IHIIH‘IE!;LDS'HIDI.E!
(A gpom sianau

(B)  -Brenly menaisd
() epdp cseneusd

(DY mreng syeneusdt

17

SHehuE QETETLETELD.
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43.  Anentrepreneur is like
(A)  acrow : ' (B) _a duck
(C) apeacock i an eagle

e SEmflaapananCent eranueut wirens Gumes e erarmi?

A) o ersn ; B) amuris
C) e D) amsws

44. How many people does each ration shop serve?
2000 (B) 2500
{C) 3000 O 3600

galaumm fumy slaneod senuyb sreuarare) wasEssE g dng?
(A) 2000 (B) 2500
© 3000 _ @) 3500

_ 46.  Which Government started the Land reform legislation?
"~ (A) Panchayat
{B) Loeal Government
State Government
(D) Central Government

iPlesEfdlen dm L dang Wam kil oirs ag?

(A usRsmLEE
(B) e dngmi s
(C)  wnfle s
(D} wifu s

- AAOGSN7 : 18
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46. @ What was the fund limit of a small scale industry in the tenth five jr&nr plan?

47.

48.

(&) 76 lakhs J , (B) 100 lakhs
W 60 crores (D) 75 crores
U b B Ay Qs fgpessmisacice B srara erina?
A} T5wisb (B) 100 aimb
{Cy 50 ﬂ&ﬂ'u‘. (I 75 Camy

The 1857 Revolt was sparked off due to the reason
{A) .HNew form of turban ’
Greased Cartridges "
() Daoctrine of Lapse
(D}  Abolished the Bata

1857-guh e seosbEE e ang.s STreED
(A ufu s geplurms ;
(B)  Gemgpoy suelu Garl L miser

(0 aunfls Bupdys Qemdrens

(D) Bt pés Gmpﬂ:

Whe repealed the Verpacular Press Act and earned much popularity among India?
(A)  Lord Curzon ’

" Lord Ripon
()  Lord Lytton
Dy Lord Maya

BB Gumd GeiSgsrda ol s rhg Galm Bifw wisafle Cu Qugpbd Lsp Suppest
(A smedn Sy : : '

(B) Mo Sny
() efllidr Sy i
(M) GG gy

18 il AADGESNT
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60,

&61.

www.rrbrecruitment.co.in

If % of a pencil is black, % of the remaining is white and the remaining 3% em is blulfind
the total length of the pencil.
{M 9 cms - {E}I 7 cma

8 cma D) 10cms

g Quenfldicn B-Fa 1 urab smoy Bowrsas, 80 usdla urd Qaudawmer Bpwrseb,
iBgapsmer Lgd 3% Q8. Sor Bmuoreayh Fmhsrd, Sudndlelan Quags Berb ereren?
(A) 908 C(B) TGsd '

.‘/ 8 Gaab. (D) 10 Qb

A tin of oil was —;- full. When & bottles of oil were taken out and four bottles of il were

poured inte it, it was % full. How many bottles of oil can the tin contain?

@ o 10

) 42 (D e

T SabTCland e -;- uns Heopdngss. sfidmbig 6 Ulned cerfaray aRsgedld,

4 Ul s srearEemenws eapmnh Gurgps o5 % umath SenphBmbng erafld, mhs g apog
Qaneirarencilig shsenan Ly 84t eren G ami Geanaiumiing?

(4} 35 : (B 40

(Cy 42 (Dy 60

When an amount was distributed among 14 boys, each of them got ¥ 80 more than the .
amount received by each boy when the same amount is distributed equally among 18 boys.
What was the amount?

(A T 5010 (B) T 5,020

~% 5040 D) £ 5,000
5 GHCEi. Gprmamy 14 auudsefio Gy uadBib Qurys, G5 Seresemu 18 GuilLb
sowrss LRdfe Qurpsy Selumg i gdlanpams T 80 sl Qupdprrsda. Qeras
eTETEn 7
(A TH00 {B) ®50:0
{Cy T5040 (D) 5000
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